Chapter 10, Scenario

1.
The Kemp Company is using a Windows NT single-domain network running TCP/IP as the only protocol. The company is running two subnetworks connected by a router, and the subnetworks are connected via an ISDN line to the company’s Internet Service Provider. There is one DHCP server per subnetwork. The network has been running smoothly. However, the network administrator has decided to create another subnetwork within the company to utilize an unused port on the router. The new subnetwork has its own DHCP server. Stations on the new subnetwork can communicate with each other, but they cannot connect to servers or workstations outside their subnetwork. Which of the following might cause this problem? Choose all answers that are correct.

a.
TCP/IP is not installed on the stations on the new subnetwork; NetBEUI is.

b.
The new DHCP server is providing an incorrect default gateway.

c.
The router is not functioning properly on the port to which this subnetwork is attached.

d.
There are duplicate IP addresses on the new subnetwork.

a, b, or c.

Chapter 10, Lesson 1

1.
Which of the following is the Network program in Control Panel able to perform? Choose all answers that are correct. 

a.
Adding a protocol.

b.
Configuring Event Viewer.

c.
Changing the computer name.

d.
Establishing a domain account for the computer.

a, c, and d. (page 338)

2.
Which of the following options is available on the Protocols tab of the Network program in Control Panel? Choose all answers that are correct.

a.
Properties.

b.
Update.

c.
Configure.

d.
Remove.

e.
Delete.

a, b, and d. (page 340)

3.
The Network program in Control Panel can be used to change the computer name, change or specify a workgroup or domain, and establish a domain account. (True or False?)

True. (page 338)

4.
When installing a network adapter card through the Network program in Control Panel, the protocols and bindings are added automatically. (True or False?)

False. (page 338) Protocols must be added manually.

5.
The manufacturer for your network adapter has provided an updated Windows NT 4.0 driver on its Web site. You have downloaded the driver. How do you install it?

Using the Network program in Control Panel, click the Adapter tab, and then click the Update button and provide the path to the updated driver file. (pages 338-40)

6.
Protocols in Windows NT communicate with network adapter cards by means of ___________-compatible network adapter card drivers.

NDIS 4.0. (page 339)
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1.
When Windows NT 4.0 uses an IPX network number for routing purposes, the number must be unique for each network segment. Which of the following terms is used to describe the number?

a.
Virtual Network Number.

b.
IPX/SPX routing number.

c.
External network number.

d.
Internal Network Number.

c. (page 344)

2.
Which of the following topologies is supported by NWLink? Choose all answers that are correct.

a.
Ethernet.

b.
Localtalk.

c.
Token Ring.

d.
FDDI.

a, c, and d. (page 342)

3.
NWLink IPX/SPX Compatible Transport protocol is the Microsoft 32-bit NDIS 4.0-compliant version of Novell’s Internetwork Package Exchange/Sequenced Packet Exchange (IPX/SPX) protocol. (True or False?)

True. (page 341)

4.
When NWLink is installed as a protocol, the default frame type is always 802.3. (True or False?)

False. (page 342) NWLink automatically detects the frame type; if more than one frame type is detected, the default is 802.2.

5.
When connecting networks of different types, such as those using different architectures and protocols, a _________________ must be installed.

Router. (page 342)

6.
By default, the eight-digit hexadecimal number known as the virtual network number is ____________ for a networking running NWLink.

00000000. (page 344)
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1.
NetBEUI has been installed as your only Windows NT 4.0 protocol. You have made several attempts to see your station on the other side of the router and have been unsuccessful. Which of the following troubleshooting steps would you use to correct this problem?

a.
Delete and reload the NetBEUI protocol.

b.
Check the frame type to make sure it is 802.2.

c.
Nothing; NetBEUI is the wrong protocol for this purpose.

d.
Load NetBEUI with both 802.2 and 802.3 frame types.

c. (page 347)

2.
NetBEUI provides Windows NT with the ability to connect effectively with older network systems. Which of the following are advantages of NetBEUI? Choose all answers that are correct.

a.
Self-configuration and self-tuning.

b.
Small memory overhead.

c.
Minimized broadcast traffic.

d.
A routable protocol.

a and b. (page 347)

3.
Which of the following transport protocols is routable? Choose all answers that are correct.

a.
NWLink (IPX/SPX).

b.
TCP/IP.

c.
NetBEUI.

d.
DLC.

a and b. (page 347)

4.
NetBEUI is a protocol that should be limited to supporting a network of 20 to 200 computers in a small Local Area Network (LAN). (True or False?)

True. (page 347)

5.
NetBEUI is a valuable networking protocol in Windows NT because of its ability to be connected to a Local Area Network (LAN) using routers. (True or False?)

False. (page 347) NetBEUI can only be utilized with bridges. 

6.
A Windows NT 4.0 Workstation can have two network adapter cards, each running NetBEUI; using the two cards, it can allow a station attached to the network cabling into the first network card to communicate with a workstation that is attached to the cabling into the second network card. (True or False?)

False. (page 347) NetBEUI is not routable.

7.
Because Net BEUI relies on broadcasts for many of its functions, this protocol causes more _______________ than other protocols.

Broadcast traffic or simply network traffic. (page 347)

8.
By using _____________ routing over IPX, a Windows NT Server can act as an IPX router.

Routing Information Protocol (RIP). (page 344)
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1.
Which of the following programs is used to verify TCP/IP communications with a remote host?

a.
ARP.

b.
Ping.

c.
ipconfig/all.

d.
FTP.

e.
TFTP.

b. (page 357)

2.
Which TCP/IP setting should be examined when an IP station is having difficulty communicating with a remote computer via the ping utility? Choose all answers that are correct.

a.
IP address.

b.
Subnet mask.

c.
Default gateway.

d.
The properties of NWLink, if installed.

a, b, and c. (pages 352, 357)

3.
Which of the following is required when configuring the TCP/IP protocol manually? Choose all answers that are correct.

a.
Assigning an IP address.

b.
Assigning the subnet mask.

c.
Assigning the default Internet page.

d.
Assigning a default gateway.

a and b. (page 352)

4.
What is the meaning of an IP address of 0.0.0.0 on a Windows NT Workstation that is supposed to obtain its IP address from a DHCP server? Choose all answers that are correct.

a.
The DHCP server assigned the special address of 0.0.0.0.

b.
The DHCP server might have been unreachable.

c.
The DHCP server might not have had an address to lease to the workstation.

d.
The DHCP server’s database is corrupted.

b and c. (page 357)

5.
When setting up TCP/IP to use DHCP, you might still be required to set up the subnet mask for TCP/IP using the Protocol tab in Control Panel. (True or False?)

False. (page 351) DHCP assigns the address for you.

6
An IP address has two parts: the network ID and the host ID. (True or False?)

True. (page 352)

7.
Which utility is used to display the current TCP/IP configuration?

Ipconfig. (page 356)

8.
How can you determine whether TCP/IP is installed and loaded correctly?

Ping the loopback address (127.0.0.1). This can also be determined by default by pinging the station’s IP address, pinging the default gateway or by pinging a remote station successfully.  Each of the latter 3 approaches checks more than just whether or not TCP/IP is installed and loaded correctly.(page 357)
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1.
How would you optimize bindings for a computer that primarily runs TCP/IP and only occasionally uses NWLink?

a.
Bind TCP/IP first, and then bind NWLink.

b.
Bind NWLink first, and then bind TCP/IP.

c.
Binding order is unimportant.

d.
Bind NetBEUI to speed access for both TCP/IP and NWLink.

a. (page 363)

2.
Which of the following can a Windows NT 4.0 Server with two network adapters perform? Choose all answers that are correct.

a.
Run a different set of protocols on each adapter.

b.
Run the same set of protocols on each adapter.

c.
Automatically route from one LAN to another.

d.
Route if one of the adapter cards is configured to run NetBEUI and the other is configured to run NWLink.

a and b. (page 361)

3.
When adding network software, Windows NT automatically binds all dependent network components. (True or False?)

True. (page 361)

4.
A network component can be bound to one or more network components above or below it. (True or False?)

True. (page 360)

5.
When a binding is disabled, what happens to the connections in the hierarchy beneath the selected component?

They are also automatically disabled. (page 363)

6.
Which protocols will bind to the Server service?

Only the routable protocols. (page 361)

